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“qefy ; Taga “The magnetic field arises due to
s ﬁﬁmﬁ(ﬁm;r =g electric  current produced b
ST fereget o < ShrT graehtd convective motion of metallic fluids

&3 39~ BT & |” I8 HUT HEeAdl 8
(1), SN (2) HissyuE
() SHEAYNE  (4) SETE YN

in the outer core of the earth.” This
statement is known as

(1) Joule’s Effect (2) Seeback Effect
(3) Thomson Effect(4) Dynamo Effect

T Juft LCR uftuy § wfedy, gaifa In a seriﬁs LCR circuit the voltage
i Y ISF W aeTd across the resistance, capacitance
bY : WA 10V R | and inductor is 10 V each. If the
Ife guie ‘elﬁ?fg qf¥rq < feam s at ca;l)acitor is short circuited, the
: voltage across the inductor will be
STehed o ot 9 dieedn gt
(1) 10V (2) 1\2V
(1) 10V 2) 1\2V 10
10 3) =V 4) 20V
® FY @ 20V 3 p &

: ! Choose the correct expression for the
| TS TS A I & I GiATIeTshT J magnetic energy stored in a solenoid
gﬁa@aﬁam{%mgﬁm of length / and area A. (Here B is

. 3 ic field)
R | (=81 B bl &) R
PRV oo Tl Lo (1) 3-BAY (@) 3Bl

1 1
3) EH—OBAIZ (4) Zu, BAI

Teh AT U1 THAAH JrEehig &
T &9 ¥ g W (eired) Talke
BXAT R | 8 YT oh gRiTeh 9 hi e
T 1.5 70N TS & foTe feremA 8 | 07

1 1
3) 2 BAZ (4) 7 pgBAI
A charged particle enters a uniform
magnetic field at right angle to
magnetic field. The field exists for a
length equal to 1.5 times the radius
of the circular path of the particle in
the field. The particle will be

1 391 99 9 fagem g deviated from its path by !
o e g
(1) 90° ©) sin‘l(—i—) (1) 9 (2) sin (3)
(3) 30° (4) 180° 3) '30°. 4) .180° '
R, = 12Q 9o % aR 8 Ueh g ST I ring is made of a wire hav1f1g a
HIREER- Kot id | A DAL S B Ieszzr;cewlio = 11;29. lfmg the ratlcihc;f
FTE i1 Hifre v fh : ! ength /, to /, as shown in figure, so
e ﬁi;ﬁAaB f the resistance R of the sub-circuit
SR 5 SR ' 8
% % quﬂggﬁ l % between A and B points is equal to 3.
I ;
A B | e
I g I
S Lo ; lg +3 I 1
 § oy Dpe=—s % D=3 A =5
M 73 @ 773 | (1) 7-% ® 1,3
b8 b | .S g
O % 7 ; k% #3773
2
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m,=9.11 x 103! kg)
(1) 6.752x 1031 kg
(2) 1.675x1035kg
(3) 1.675x 102 kg
(4) 1.675x 1027 kg
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10.

A particle is moving three times as
fast as an electron. The ratio of the de
Broglie wavelength of the particle to
that of the electron is 1.813 x 1074,
The mass of particle is (mass of
electronm, =9.11 x 103! kg)

(1) 6.752x 1031 kg

(2) 1.675x103kg

(3) 1.675x10%*kg

(4) 1.675x1027kg

The half-life of a radionuclide T is
related with its mean life T as

(1) T=+ @) T =1’
In?
@) T="7 4) T=23037

To get an output Y = 1 from the logic
circuit given in figure, the input must be

=5

I GR e o
(13 T Feass0
) 001
(3) .1 0
@001 008

Which one of following diode is
reverse biased ?

IIOV
M 15V Il>l[
=\ -10V
@ —P—
0V - =
3) i | | _L
=10V
@ sy 1 giEE]
i 1

In a Young’s double slit experiment,
12 fringes are observed to be formed
in a certain segment of the screen. If
wavelength of light is reduced to two
third of its initial value, number of

fringes observed in the same
segment of the screen will be
(1) 8 (4 £
(3) 18 4) 36
o
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11.

12.

13.

14.

A thin uniform rod of length [ is
rotating at an angular velocity o about
an axis passing through centre and
perpendicular to rod. As the drawing
indicates, the rod is hinged at two places,
one quarter of the length from each end.
Without the aid of external torques, the
rod suddenly assumes U shape, with the
arms of the U parallel to the rotation
axis. What is the angular velocity of the

rotating U shape|d body ?
e

|

i

i
L A
<L/4> <L/4>
) o Q 150
3) 200 4 300

If M is mass of proton and m is mass
of electron, then reduced mass of
hydrogen atom is

(1) Zero =

2

L
M
m m
3) m(1+ﬁ] “) ————1_2
M

In centre of mass frame of reference

(1) The momentum of each particle
of system is zero.

(2) The kinetic energy of system
never be conserved.

(3) The total linear momentum of
particles of system is zero.

(4) A pseudo force must act as this
is always non-inertial frame.

The band width required for TV

signal transmission is approximately

(1) 300Hz (2) 20kHz

(3) 6 MHz (4) 600 MHz
05 (Science)
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(1) e =Teish 96 & AEM T |

(2) 9% ¥ & W W A
e w |
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16. Topet sETTe T ST STETH A qUT 3R
Hivfg R o B | 701 F Kol T
1 T & - (T8l p — HIEAH T B,

v — 0T 6 aTl)
T 1
(1) 5 po’A? (2) 5pv>A?
1 1
(3) 7 po*A @ 3 p2w?A

17.  0.72 m &= &d a1 61§99 5.0 x
103 kg 2 1 3fe AR 60 N T1E & HefH

2 A R § IyEy o Hit T el
SuE
(1) 93 ms™! (2) 93ms™!

(3) 111 ms™ (4) 201 ms!

18. 75 370] 1 WIS Yo T HEHT B hi
Xt o7 uE 310 % e Yyl u
Wlﬂqmal'qﬁxayﬁ
M x=1,y=2 @ =132
(3) x=-1,y=-2 (4) x=-1,y=2

19. 300 3o wfd Yehve ITgfT aret s
T 3T 3000 Srei S TvETd ILRTH

TH %013 I 2 Al e &
FTEHCH TUTI% T HH &
(1) 2.3 g1 2) 023 g1

(3) 0.023s7! (4) 1.08s”
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16.

17.

18.

19.

In low driving frequency condition,
the amplitude of forced oscillator
depends upon

(1) amplitude of driving force only

(2) amplitude of driving force and
force constant

(3) damping force and mass of
oscillator

(4) damping force and force constant

The amplitude of progressive wave
is A and its angular frequency is o.
The expression for energy density of
the wave is (Here p — Density of
medium, v — velocity of wave)

1 ]

(1) 5pa’A? (2) 5 pvPA?
1 1

(3) 7 po’A @ 5 P0%A

A steel wire 0.72 m long has a mass
of 5.0 x 1073 kg. If the wire is under
a tension of 60 N, the speed of
transverse waves on the wire is about
(1) 9.3 ms! (2) 93 ms™!

(3) 111 ms™! (4) 201 ms™!

The mean free path of gas molecule is

proportional to x™ power of number

density and y® power of diameter of

molecule. Here x and y are

M x=Ly=-2 @) x= 1, y=2

3) x=-lLy=-2 (4 x=-1,y=2

The amplitude of a oscillator of
frequency 300 oscillations per

Ethooa.
second, reduce to 10 of its initial

value after 3000 oscillations. The
damping coefficient of oscillator is

(1) 2357 ) 023s7!
(3) 0.023s! (4) 1.08s7
o
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IO HE g | Afshay 9 <A

fierar 1 37U B

(1) 5:2 ) 73

(3) 49:9 4) 125:8
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T & it Bhwsil <hT <hIviTT JoEhi -
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22.

23.

24.

Two waves having intensity in the
ratio 25:4 produce interference. The
ratio of the maximum to the
minimum intensity is

(1) 52 2)"7:3

(3) 499 4) 125:8

In a Young’s double slit experiment,
the wavelength of light is A and
distance between two sources (slits)
is d. If the screen is moved away
from the plane of the slits, the
angular separation of the fringe

(1) increases

(2) decreases

(3) may increase or decrease

(4) remains constant

Choose the property which changes
in general for superconductivity
transitions of metals.

(1) X Ray diffraction pattern

(2) Elastic properties

(3) Specific heat

(4) Photoelectric properties

The total number of possible wave
functions in any energy band for a
linear crystal of length L is equal to
(Here N = Number of unit cells)

N
(1) 5 @ N
N2
3) N &z

The root mean square speed of
oxygen molecules is v. If the
temperature is doubled and the
oxygen molecules dissociate into
oxygen atoms, the root mean square
speed will become

(2) -~

4) 2v
05 (Science)
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28.

29.

0, 0,, 0, T1 05 I WY Hif
ShHRT: ﬁ’ﬁ .

(1) 1.5,25,2.0911.0

(2) 2.0,2.5,1.5T°11.0

(3) 2.5,1.5,2.0a%11.0

4) 2.5,2.0,1.57€11.0

A ‘EFﬁ?{, 3: %ﬁa o quT =9
fifes agpfcra STors ® S gadr
U R

(1) 52.4%, 68% 4T 74%

(2) 52.4%, 74% T 68%

() 74%, 68% T 52.4%

(4) 68%, 52.4% T 74%

Frefefaa % @ g3 &1 98 o S A
g T e B

(1) a™Iqe

(2) AT

() BEE

(4) T @ HIg T

Frfafiga wfiefist NH,*, PCI;, SF
FAT [PHCH,]> | Sk A *
THTUT I T FAR :

(1) sp3, sp>d?, sp>d a dsp?

(2) dsp?, sp’, sp3d TT sp3d2

(3) sp3, sp’d, sp’d? at dsp?

(4) dsp?, sp3d, sp® a1 sp3d?

1 el I X T 50 @ Fefira fea
a1 §, 51 et % wengst § SRR
T 1 I
1 12
() 48

(2) 4:9
@) 2:4

05 (Science)
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28.

26.

217.

28.

29.

The bond order of 05, 0,, O, and 03_

will be respectively :

(1) 1.5,25,2.0and 1.0
(2) 2.0,2.5,1.5and 1.0
(3)2:5,1.5,2:0and 1.0
4) 25,2.0,15and 1.0

The packing efficiency in simple
cubic, body centred cubic and cubic
closed packed lattice is respectively :
(1) 52.4%, 68% and 74%
(2) 52.4%, 74% and 68%
(3) 74%, 68% and 52.4%
(4) 68%, 52.4% and 74%

The property of liquid among the
following which increases with
increase in temperature is

(1) Vapour pressure

(2) Viscosity

(3) Surface tension

(4) None of these

The correct order of hybridisation of
the central atom in the following
species :

NH,*, PCI;, SF¢ and [Pt(C)),]*"is :
(1) sp3, spd?, sp°d and dsp?

(2) dsp?, sp?, sp’d and sp3d?

(3) sp, spd, sp3d? and dsp?

(4) dsp?, sp°d, sp and sp3d?

3
Two elements are represented as ng

and ggY, the ratio of neutrons present
in the atoms of these elements is

1) 12 2) 49

3) 48 % 2:4
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32.

33.

34.

35.

36.

FrafaRea 9 4 3tiaits was a5 &

T=Eg R

(1) [CoF(]*, [FeFgl>~, [MnCl -

(2) [MnCIJ*, [Mn(CN)¢]3~ [CoFg]*

(3) [MnCI >, [Co(NH,)]*", [FeFgl*-

(4) [Co(NH,)eI**, [Mn(CN)gI>,
[Fe(CN)(]*

[Cr(H,0)]Cl; @1 [Cr(H,0)5Cl]

Cl,H,0 5 & :

(1) o=t GHTEEsm

(2) SUTEEASH THTEHEAT

(3) 3T FHTEEEAl

R ESICEZIEERSLICRER]

fadfiw amad % ol & YW HEEH
@Fﬁmwwm%
(1) B<Be<C<O<N
(2) Be<B<N<C<O
(3) Be<B<C<N<O
4) Be<B<O<N<C

ey SRS fa=g 4d45S! A
T 1 S ol § ATad a9
T HAT: B

(1) 3,4 2 4,3

(3) 4,5 @) 5,5
frefafga § @ 98 gowrs SEw
Rraran oeGS At 2

(1) PbS (2) CdS

3) CuS (4) ZnS
SUTETERIE 37 ! &hdT &

1) 1 Q) 3

(3) 4 4 2

CIF, Hr=afufa & :

(1) Breif fgfmf

(2) =t gHact

(3) T - 3Tpid

4 it e

OO Tt e mmines TR T TS s T L 03 TrIANIESS AN NSS

30.

31.

32.

34.

3s.

36.

Set of Inner orbital complex among
the following is :

(1) [CoF >, [FeF(*, [MnCl >

) [MnCIP, [Mn(CN)I>,
[CoF >

3) [MnCl6]3’, [Co(NH3)6]3+, [FeF6]3‘

(4) [Co(NHy)gJ*, Mn(CN)¢*,
[Fe(CN)6]3‘

[Cr(H,0)4]Cl; and [Cr(H,0)sC/]

Cl,-H,0 exhibits :

(1) Linkage Isomerism

(2) Coordination Isomerism

(3) Ionisation Isomerism

(4) Hydrate Isomerism

The correct order of first ionisation
enthalpy value for elements of II
period is :

(D) B<Be<C&£OxN

(2) Be<B<N<C<O

(3) Be<B<C<N<O

(4) Be<B<O<N<C

The period and group number of an
element having outermost electronic
configuration 4d*5S! are respectively
(1) 3,4 2 4.3
3) 4,5 4) 5.5

The sulphide among the following
has the highest solubility product is :

(1) PbS (2) CdS

(3) CuS (4) ZnS

The basicity of Orthophosphorous acid is
1 1 2 3

3 4 @ 2

The Geometry of CIF; is :

(1) Trigonal bipyramidal
(2) Square planar
(3) T - shape
(4) Square pyramidal
05 (Science)



37. w2 U % T T FUE 7
1) q=*+W () q=0
(3) AE=q (4) PAV=0

38, Tfafes # @ SF @1 T THAD

(1) TFAE Q) wH

(3) WA 4) dga
39, frafaflga & @ IEEEIEH

STy Jifufsear 8

(1) N,(g) +0,(g) —> 2NO(g)
(2) 2Pb(NO,),(s) —> 2PbO(s) +

IO () + 304(¢)
(3) NaH(s) + HO00) —
NaOH(aq) + H,(g)
(4) 2NO,(g) +20H (aq) —>
NO, (aq) + NO;(aq) + H,0()
40. AHTEE AT GERH (Cp) H HTo THIY
(1) spa@aisp>  (2) spTTsp’
(3) spr@isp®  (4) sp?TATsp?

41. DA T IS 2 |

(1) gt (2) IH

(3) HX 4 T
42. AfEEAF I

(1) H,S0, (2) H,80,

(3) H,S,04 (4) H,S,0,
43, Tyefafea § & sl seaEs R

(1) N,04 ) N,0,

(3) N,0; (4) NO

44, Trfafgqd AR
(1) =EE (2) I
(3) SwTETRar 4 T

05 (Science)
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37,

38.

39.

40.

41.

42.

43.

Correct statement for Adiabatic

process is
(1) q=+W 2 q=0
(3) AE=q (4) PAV=0

Which one of the following is not a
natural polymer ?

(1) Teflon
(3) Protein

(2) Starch
(4) Cellulose

The  disproportionation  redox
reaction among the following is :

(1) Ny(g) + O,(g) —> 2NO(g)
2) 2Pb(NO,),(s) —> 2PbO(s) +

INO,(@) +50,(8)

3) NaHis) + HO00) —
NaOH(aq) + Hy(g)

(4) 2NO,(g) + 20H (aq) —>
NO,(agq) + NO; (aq) + H,0()

The hybridised states of carbon atom
in graphite and fullerene (Ceo)
respectively are :
(1) spand sp?
(3) sp?and sp’

(2) spand sp’
(4) sp?and sp?

Malachite is an ore of 3

(1) Aluminium  (2) Iron
(3) Copper (4) Zinc
The formula of oleum is

(1) H,SO, (2) H,80,
(3) H,S,04 (4) H,S,0,

Neutral oxide among the following
is

(1) N,O; 2) N,O,

(3) N,O; (4) NO
Intensive property among the
following is

(1) Mass (2) Volume
(3) Heat capacity (4) Pressure



45.

46.

47.

48.

49.

50.

@ + 301, T [Al
sqaa FAfifea § Aifies [A] T
1) Gl 2) CH(Cl
(3) CCl 4) CH,CI

fRIC T5TT hl Theleh 1A ©
(1) Ifen q GHeSEES

(2) HiATel T BHCSIEISS

(3) ufref Tegehiet au e I !

(%) Rrefim TTgRle q
- 3

KMnOy/H"
CH,<CH=CH-CH;—— [A] |

soivea TR # 3TE [A] R
(1) CH,-CHO
(2) CH,—CH- (l:H ~CH,

OH OH

(3) CH,COOH

4) CH, - CH,-CH,-CH,
I l

OH

Bier NéH H1 I &
(1) derefE () A
(3) s @) fRfe

Srferfag o & SFaTTER WU 8
(1) (2) AR
() A 4) ThE

CH, - CH=CH, + HBr
(Cet5CO%0y

OH

e WSS T (S TSGR TTUAIS Y

Il BRI R -

%
%
%

E%E

45.

46.

47.

48.

&
°

)
b

UVlight
@ +3Ch—g55=> [A]

The compound [A] in the above
reaction will be

(1) CCl (2) CHClg
(3) CClg (4) CHCI

Monomer units of polymer Glyptal are

(1) Ureaand formaldehyde

(2) Phenol and formaldehyde

(3) Ethylene glycol and Phthalic
acid

(4) Ethylene glycol

Terephthalic acid

and

KMnOy/H"
CH,—CH=GH-CH,———— [A]

The product [A] in the above reaction
is :
(1) CH;-CHO
(2) CH;—-CH—-CH- CH,
|

l
OH OH

(3) CH,COOH
(4) CH, —CH,-CH,-CH2
|

OH OH
Example of Fibrous protein is

(1) Haemoglobin (2) Albumin

(3) Insulin (4) Keratin
Non-reducing sugar among the
following is :

(1) Glucose (2) Maltose

(3) Lactose (4) Sucrose

CH, — CH = CH, + HBr
(CeH5COR0

> CH, - CH, - CH, — Br

The above reaction is :

(1) Electrophilic addition reaction

(2) Electrophilic substitution
reaction

(3) Nucleophilic addition reaction

(4) Free radical addition reaction

05 (Science)
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52.

S3.

54.

SS.

56.

D7

RNA & 3ufRrd Arggior &1 2

(1) &, wrE, e, e
(2) Ve, g, T, [
(3) XA, T, arfE, R
@ ¥, R, @, R

ﬁw%mﬁﬁuﬁaﬂmaﬁwé
(1) TSIl

(2) TREAAGH

(3) i

(4) FARTBHHIA

1 3 urh § snfere AseeE (50 ppm
@Cﬂﬁiﬁ)ﬁﬁﬁﬁﬂﬂ%:

(1) Sorrsfi TerRiTedd

2) Tastradfern

(3) IfeamReE

(4) AAAAHIET

XeOF,, 310 <t <t @ :
(1) =t e (2) FTHAHA
(3) T aHaeE  (4) TgTHerh

TfhRE S Ot e H SATadis TIEw
F R A 2, T 8

(1) ST (2) TR
(3) Wit (4) WTEIBHA

freaferfiaa § @ oft et & 9=
2

(1) V3+, Ti4+’ Mn3*

() Sc3, Mo, Ti**

GIoTEE IO W

(@i T35, Crt

fpg fefm & @@ @ o

LRIt U BT 8 ?
(1) fefmB, (2 fw=f@B,
(3) foafm B, 4) feafmB,,
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52.

S3.

54.

55.

56.

57.

Nitrogenous base present in RNA is

(1) Adenine, Guanine, Cytosine,
Thymine

(2) Adenine, Thymine, Cytosine,
Urasil

(3) Adenine, Guanine, Thymine,
Urasil,

(4) Adenine, Urasil, Guanine,
Cytosine

Antifertility drug among the
following is

(1) Chloroxylenol

(2) Norethindrone

(3) Terpineol

(4) Chloramphenicol

The disease caused by excessive
nitrates (Above 50 ppm) in drinking
water is :

(1) Pernicious anaemia

(2) Xerophthalmia

(3) Osteomalacia

(4) Methemoglobinemia

The Geometry of XeOF, molecule is :
(1) Square pyramidal (2) Octahedral
(3) Square planar (4) Tetrahedral

Porphyrin used for oxygen storage in
muscle tissue is

(1) Haemoglobin (2) Myoglobin
(3) Ferredoxin (4) Cytochrome
The set of coloured ions among the
following is

(1) V3, Tit, Mo

) Sc3*, Mo, Ti**

Q). TP CE, v

@), T, 202 Lt

Deficiency of which vitamin causes
pernicious anaemia disease ?

(1) VitaminB, (2) VitaminB,
(3) VitaminB, (4) VitaminB,
o



58.

59.

60.

61.

62.

63.

Sb,S, % FUMER HIATES & Thad
2q Taiferes et g 2

(1) Ba?* (2) Ca**

3) AB* (4) Na*

Frefaitaa o @ aiftes AT AfE 2 :
(1) o —TEIHHATA

(2) m—TEAHHA

(3) p-—TEGHHIA

4) o-hEa

fafafeaad @ ga‘aaqm &
(1) CH,-CH,-NH,

(2) (CH,-CH,), NH

() (CH,CH),N

(4) CH,-NH,

g Fifires < SHiAwr AR <ot g
(1) CH,-CHO

(2) CH,-CH,-CHO

(3) C,H,CH,-CHO

(4) CH,CHO

werm wife tffsrar & fom o fFaars
HTEM 6.93 x 103571 8 | AR H
gy Bt

(1) 10s (2) 1000 s
(3) 1s (4) 100s

S, 2 tffsramatt 3 fere Afeepe Bemrssi
EIRERINIGIETIE R
(1) (CH,);C—Br<(CH,),CH-Br
~ <CH,;-CH,-Br<CH;-Br
(2) CH,— Br < CH,— CH, - Br <
(CH,), CH—-Br<(CH,); C—Br
(3) (CH,);C—Br<CH,-Br<CH,
—CH, - Br < (CHj,), CH-Br
(4) CH, - CH, - Br < CH,~ Br <
'~ (CH;),CH—-Br <(CHj); C—Br

TTILARAND YWANBIDS Wi TYUNBOUNE TYILRBINSS TYNATOUNSD THIRPSLAEDS TYLARRNS, TALKESISS THILNIOOD TYLAIOIROS

[y
N

S8.

59.

60.

61.

62.

63.

The most effective cation to
coagulate the negatively charged
colloid of Sb,S, is

(1) Ba?* (2) Ca?*

(3) APt (4) Na*

Most acidic compound among the
following is

(1) o — Nitrophenol

(2) m — Nitrophenol

(3) p—Nitrophenol

(4) o—Cresol

Weakest base among the following
is:

(1) CH;-CH,-NH,

(2) (CH;- CH,), NH

(3) (CH,CH,); N

4) CeHs- NH,

The compound which gives
Cannizzaro’s reaction is

(1) CH;-CHO

(2) CH;- O3 A CHO

(3) CiH;CH,-CHO

(4) C,H;CHO

Rate constant for first order reaction

is 6.93 x 103s7!. The half life of the
reaction will be

(1) 10s
3) 1s

(2) 1000s

(4) 100s

The order of reactivity of alkyl

halides towards S\ 2 reactions is :

(1) (CH;);C—-Br<(CH;),CH-Br
<CH;- CH,~— Br <CH;-Br

(2) CH;- Br <CH;-CH,-Br <
(CH,;), CH-Br<(CH;); C—Br

(3) (CH;);C—Br<CH,;-Br<CHj
— CH,—Br <(CH;), CH-Br

(4) CH; - CH,~ Br < CH;— Br <
(CH,;), CH-Br <(CH;); C—Br

05 (Science)



64. TRAE (Cm) 1 ORI =@ 2

65.

66.

67.

[Z=96]

(1) [Rn] 5f76d! 7s°
(2) [Rn] 5f76d0 7s2
(3) [Rn] 5f76d! 7s?
4) [Rn] 57 6d7s!

T Aga -0 H 2.00 g B
100 g it & e W gE o |
0.40 K ! &t 81 SIrcht 8 | sl 6
T 31aH R 5.12 K kg mol ™!
2 | Frdi =1 Hier g 8T

(1) 250 gmol™!  (2) 252 gmol™
(3) 256 gmol™  (4) 258 g mol™!

fafir=t Tehuuil % AT HATEYE el 1
R

(1) s>c*>n>oc*>n—>7*>
C n—> mE
non*>n—>0c*>n—>A*>
c—>oc*
cooc*>to>n*>n—>o0*>
n— n*

@)
A3)

4) n—>n*>c>c*>n—->0c*>
o no>T*>

25 °oC W Wfeaw Wi, TEEAID
a3 Hifean wise H I
AT T Hier Arerehal A 91.00,
426.16 3 126.45 S cm? mol™!
¥ o 1 I aIal T A
aTeshal BTt —

(1) 266.01 S cm?mol™

(2) 450.71 S cm? mol™!

(3) 390.71 S cm? mol™!

(4) 395.71 S cm? mol™!

05 (Science)
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64.

65.

66.

67.

-molar

Electronic configuration of
Curium (Cm) is [Z = 96]

(1) [Rn] 5f7 6d! 7s°

(2) [Rn] 5f7 6d°7s?

(3) [Rn] 5f7 6d! 7s2

(4) [Rn] 5f76d07s!

2.00 g of a non-electrolyte solute
dissolved in 100 g of benzene
lowered the freezing point of
benzene by 0.40 K. The freezing
point depression constant of benzene
is 5.12 K kg mol~!. Molar mass of
the solute will be
(1) 250 g mol™!
(3) 256 g mol™!

(2) 252 g mol™!
(4) 258 g mol™!

The correct order for the energy
required for various transitions is
(D c>c*>n—>oc*>n>n*t>
n— m*
no>n¥>n—>oc*>n—>n*>
c —>co*

@

coo*>no>n*>n—>oc*>
n— m*

©)

n—>m*k>c—>oc*>n—>c*>
n—> ¥

C))

The molar conductances of sodium
acetate, hydrochloric acid and
sodium chloride at infinite dilution
are 91.00, 426.16 and 126.45 S cm?
mol~! respectively at 25 °C. The
conductance at infinite
dilution for acetic acid will be

(1) 266.01 S cm?mol™!
(2) 450.71 S cm? mol™!
(3) 390.71 S em? mol™!
4) 395.71S cm? mol ™!



68.

69.

70.

71.

G & o 3T UsTis siew
LIRIES GRS
(1) IHhteEfes ET,
) FfEfes dEa
(3) femmdiwe
(4) Sute ot
fr=ffiaa 1 @ iF 91 TgUhUSS PRl W
U1 T ST e S hTs e Tare § 2
(1) kA 2) ==
(3) degeist (4) st

W % T I & g
F2 Fod A pel B TEraT A wE ST
mwﬁﬁm:
a WU N STt e E e |
b. TS T N TG g TG el |
c. g, HuTRes ua e |

Fe:
(1) a,ba™Tc (2) ad@dlc
(3) adATb (4) bd¥uic
Hiem-1 1 f&d T st &t Hiem-11
3 fody 713 vt & gafera Hifsre @en fed
T el B GE ST H T DI :
e - 1 e — 11
a fEeRIEW i OTOURES @
1 GHTGH
b. T HEH il WL HA
QU & AST
c. et iii, shmAfeT i
KSRERIESIE
d. LT iv. iR ST
SIEUE % Hey 3uferd
RESEEE IR
W BT |
e :
a b [ d
DRE | ey s At
§2§ iii i v Foil
3 d i e
R TR T R

inborres YRS UMRATS TN WLLREIISS YAimaNmOS WAKBSIIFOS THANIIIIVE) TGRS THAMME.ANES OURIMLOD

[y
»

68.

69.

70.

7L,

Pribnow box essential for

transcription is found in
(1) Eukaryotic DNA

(2) Prokaryotic DNA

(3) Viral DNA

(4) All of these

Which of the following
polysaccharides is the most abundant
organic substance on earth ?

(1) Chitin (2) Starch

(3) Cellulose (4) Inulin

In relation to the vascular bundle of the

monocot stem, select the correct

answer with the help of the following :

a. Irregular arrangement in ground
tissues.

b. Not enclosed by a clear bundle
sheath.

c. Conjoint, collateral and closed

Codes :

(1) a,bandc (2) aandc
(3) aandb (4) bandc
Match the structures given in

column-I respect to their function
given in column-II and choose the
correct answer from given codes :

Column -1 Column — 11
. Nucleosome i. Termination of
polypeptide chain
. Termination ii. Binding DNA
codon strands
. Helicase iii. Repeating unit of
chromatin
. DNA ligase  iv. Breaking of
hydrogen bonds
between double
strands of DNA
Codes :
a b c d
() i3y
2y im0 v N

(3) 19§ v OO
@ i i i v

05 (Science)
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73.

74.

75.

& SR A, Ba C fas i &
I$ @ 8 | 7 9@ i afa H e
e

OP=50{0P=40
TP=45 | TP=30

(1) A B—>C. (2) A->B<«C
3) A«B«C (4) A«<B->C

7 & @i a1 Rl g9 7o Uiy |

gl N, Rrfiertr ggsfia suftua € 2

(1) ShICTET SFET

(2) aTEER wifem

(3) Wsﬁmﬁqﬁ%m

(4) TrIHE G

I8 U 4 HUT ¥ Tt w9 8§,

FTRYHUT qAT HROT | 38 T T W

XD F W e Fefafea =w

yRFe d A PR i T g7 |

A. Ife 2t iR qum SR qdl
- I HR Ry i FE =
HIER |

B. afe @Ft e qur SR TE
2 oeg HRu Ifemua B Tl
ST A8 B E 2 |

C. afe afrya wdl 8, =g S
AGI R |

D. afe ifirwed e wRo gl &
FAEH R |

aﬁﬁmem ehTST YN[ & SASayAST
FEET W SRy AffseET
FHEIAE R |

HRUT : TE THI9 & FRATT A g2 |

1) A ) B

3) C 4) D

fopm o 1 0B Fafdre wgo 20 & S

IAadT AW, FEAT g1 SSISTE,

fyds we 3t e dise=mE 2

(1) s

(3) HIeIaE

OP=30
TP=23

0
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72.

73.

74.

.

Three cells A, B and C are joined in
linear manner. Demonstrate the

direction of movement of water in them.
A B

OP=50|OP=40|OP=30
TP=45 | TP=30 | TP=23

(1) A B>C (2) A->B«C
3 A«<B«C (4) A<B->C

Which of the following is a
flowering plant with nodules
containing filamentous nitrogen
fixing micro-organisms ?

(1) Crotolaria juncea

(2) Cicer arietinum

(3) Casuarina equisetifolia

(4) Cycas revoluta

The question consists of two statements,
Assertion and Reason while answering
the question. Choose any one of the
following four responses.

A. If both Assertion and Reason
are true and the Reason is a
correct explanation of the
Assertion.

B. If both Assertion and Reason
are true but Reason is not a

.O

correct explanation of the
Assertion.

C. If Assertion is true, but Reason
is false.

D. If both Assertion and Reason
are false.

Assertion : Biosynthetic phase of

photosynthesis is known as
Dark Reaction.

Reason : It takes place in absence of
light.

1 A ) B

@)L 4 D

Which family has special features of
having superior ovary with swollen
placenta and oblique twisting of the
ovary with axile placentation ?

(1) Brassicaceae (2) Solanaceae
(3) Malvaceae (4) Leguminosae



76.

e

78.

79.

80.

o el w femm i

i wh dogm WA d9 g W
Hiveet 7 J9 wEEEe
grafsmmal =l SN H & |

ii. e Graum e aa

iii. 3o g W et ot ferpd st
REICES

iv. T el vamafaes sififsran Hi
afy i e § |ikIw Hat B
QTR |

FHEE A B AT R ?

(1) i3Mii (2) ii AR iii

(3) iii 3 iv 4) iv3Mi

frfafga # @ # @1 0% IW T

gafra g ?

(1) ueEfys s ol W

et s |

() 3UEAH . el TEaA 1 Al

(3) urgerrt Sk d gf

@) fFefem  : ed afadl %

T

AT i St DNA &1 g1
ugaTd 3

(1) i femtoi
(3) e ot

) X-Fetoi
(4) UV i

(1) CO, a5

(2) CO,a™1 NADH

(3) NADH @1 FADH,

(4) CO,, NADH @1 FADH,

76.

71

78.

80.

Consider the following statements :

i.  All enzymes are proteins which
catalyse biochemical reactions

in the cells.

ii. Enzymes exhibit substrate
specificity.

iii. Enzymes are denatured at high
temperatures.

iv. Enzymes enhance the rate of the
reactions by increasing the
activation energy of reactions.

Which of these statements are correct ?
(1) iandii (2) iiandiii
(3) iiiandiv (4) ivandi

Which one of the following is
incorrectly matched ?

(1) Abscisic acid : Controls
stomatal closure

(2) Ethylene : Accelerates fruit
ripening

(3) Cytokinins : Delay of
senescence

(4) Gibberellins : Causes tropic
movements

Non-ionising radiations damaging
DNA are

(1) Gamma rays
(3) Betarays

(2) X-rays
(4) UV rays

Intervertebral discs are composed of
(1) Elastic cartilage

(2) White fibrous cartilage

(3) Hyaline cartilage

(4) None of these

The end product of Tri Carboxylic
Acid cycle is :

(1) CO, and water

(2) CO, and NADH

(3) NADH and FADH,

(4) CO,, NADH and FADH,

05 (Science)



81. SaifdeA gd= & SR : 81. The function of the prolactin
(1) ot =1 ITE hormone is :
@) = Corft 7 (1) Production of pigment
(2) Development of mammary gland
(3) ST T G ST (3) Reabsorption of water
) T @ IR ST Eau (4) Secretion of androgen and
: testosterone
82. TG T ALY B T BRI 2: 82. Repolarisation of Neurons occurs
(1) Na'srafeate (2) K #isfeate due to :
3) Na* &1 m{—g 4) KRl ﬂaafg (1) Efflux of Na* (2) Efflux of K*
: (3) Influx of Na* (4) Influx of K
83. ¥ W= H Ifa qU AEH B 83. Origin of heart beat and its
frefia = & conduction is represented by
(1) SAHIE - FHATG > AV IS (1) SA node —» Purkinje fibres —>
> g8 A% &g AV node — Bundle of His
(2) AV g — ga A% g8 - SA (2) AV node — Bundle of His —
Ay g{ﬁ,—é a@ SA node — Purkinje fibres
(3) SATE > AV g — ¥ AT (3) SA node —> AV node — Bundle
g > quf,é\ ad of His — Purkinje fibres
4) TR dg —> AV IS > SATIE (4) Purkinje fibres - AV node —
_y ¥ e AT fam SA node — Bundle of His
84. HgU h TR TS AT gH gafera 48 84. Which pair is not correctly matched
29 in relation to earthworm ?
(1) T foog — 1837 @ HeE (1) Male genital aperture — 18" segment
5 Sp— Eﬁ%ﬁ (2) Nephridiopores — All segments
@) T 11 S i (3) Spermathecal apertures — '
(3) TR o5 - § 941 @ 9% segments
(4) TfHT— 5| 79 @08 (4) Oesophagus — 5" to 7" segments
85. Tmfefaa ;mgﬁiﬁg 2 Tl T 85. What type of human population is
3 T S 1 e E @ 29 represented by the following age

05 (Science)

pyramid ?

Post-Reproductive
] Reproductive

Pre-Reproductive
(1) Stable population

(2) Declining population

(3) Expanding population

(4) Vanishing population




87.

88.

89.

90.

91.

ot we foafeat # fom frefor =

W%:
(1) XX-XO ) XX-XY
(3) ZO-ZZ (4) ZW-72Z

uichims g@en Afufwear (PCR)
gmm Wi a9 UidEies
(RFLP) faftrt &

(1) Fatie femfifén & fad |

(2) DNA 3 sFau & fod |

(3) Ia T 6 ol |

(4) TITSH A & ol |

"

(1) Wferet 9 smgiareT 6t =
(2) UehigHIgHe 9 AT h

(3) Wferer o wiger i

(4) =ERfEEE 7 3nydreT i

UTEat % i 8 THE § YOI 8 Ohg HaeHt
Fabh TR ?

(1) gFAeRE (2) SR
(3) THEEET  (4) TREIGES
I gadiaeht 3108 | HH TR B

IECSER RIS IR

g fodiwar & E%E

(1) FEA PSR (2) FEEE EREh
(3) T it (4) gt SmESh
frefafaa s el s a@t Aei e
e — 1 e — 11
a. BrEs p. Torty fmior 7
b. IR q. &% an v b
c. oifad r. SRR
d. ®ied s. Sta <t 3@t
_ t. =R g
e :

T P e e |
(o L. P 0.8
(2) p. g1t
31t q S r
(@upslvaw; saisioeq

e imatmen Tws

R ————— LR

[EAPRES—— TS

[y
-]

86.

87.

88.

89.

90.

91.

The type of sex determination in

moths and butterflies is :
(1) XX-XO 2) XX-XY
(3) Z0-ZZ 4 ZW-ZZ

Polymerase Chain Reaction (PCR)
and Restriction Fragment Length
Polymorphism (RFLP) are the
methods for

(1) Genetic fingerprinting

(2) DNA sequencing

(3) Genetic transformation

(4) Enzyme study

Metameric segmentation is
characteristic of

(1) Annelida and Arthropoda

(2) Echinodermata and Arthropoda

(3) Annelida and Chordata

(4) Platyhelminthes and Arthropoda

the

Which group of plants have embryo
but no vascular tissue ?

(1) Cyanophyta (2) Pteridophyta
(3) Tracheophyta (4) Bryophyta

In highly telolecithal egg, the usual
type of cleavage is :

(1) Equal Holoblastic

(2) Unequal Holoblastic

(3) Discoidal Meroblastic

(4) Superficial Meroblastic

Match the following and find the
correct combination.

Column - I Column — IT
a. DeVries p. Special Creation
b. Pasteur g. Swan-Necked Flask
Experiment
¢. Darwin r. Protobiosis
d. Fox s. Origin of Species
t. Mutation theory
Codes :
a b c d
(b p " "q S
(D). p . PEBRE HHY
3):t q S r
@ :p. 1 804
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92.

93.

94, o P G U TR e I T HINT :

9.

96.

freferfaa el & 8 iF °1 370 T
Tifera Wiio & a1 A R gan R 2

(2) TRIHNE  'HE

(3) ichaTswifeE : wffer e
(4) SBRET : e F

Fa% Rl @ e wa 6
HTTTIHAT B & 319 S =56 I
m%f’@,aﬁaﬁ%:

(1) frwmnfob (2) weRl
() wHfamsER  (4) TR

| ATHRH
a. EEPﬁ‘F{W‘Elﬁ'Td i 85?@2?;73%517
T o

b. Hohelt 1 ReHT i, gl ST
T

c. TSR T Ea iii. gHIEnT
STt T RfsleHicn
d. 7= 1 A iv. @AIET
fpge T i
@Z:
a b c d
(1) u 1 iv 1l

(1) S 1Ty v

@) frdt = dief Rr s W
(3) e %1 3 e U

(4) R 1 o=f T T

05 (Science)

PE——

P

19

92.

93.

94.

Which one of the following Algae is
correctly matched with its reserve
food ?

(1) Volvox : Mannitol

(2) Ectocarpus : Starch

(3) Polysiphonia : Floridean starch
(4) Vaucheria : Volutin granules

Fungi which requires two different
hosts to complete its life cycle is
called as :

(1) Heterothallic
(3) Dioecious

(2) Autoecious
(4) Heteroecious

Select the correct code by match the

following :
Disease Causal Organism
_ Whiterustof  i. Colletotrichum
Crucifer falcatum
Tikka disease  ii. Albugo candida
of groundnut
. Green ear iii. Cercospora
disease of bajra arachidicola
Red rust of iv. Sclerospora
sugarcane graminicola
Codes :
a b c d
(1) i R |

@hsii o Al i 7ol

i) T | TR | MRS P \

4 i TR G

Which of the following group has
sporophytic plant body with only
trachieds in xylem, sieve tubes in
phloem and no cambium 7

(1) Bryophytes (2) Pteridophytes
(3) Gymnosperms (4) Angiosperms
Which of the following is not a virus
borne disease ?

(1) Little leaf of brinjal

(2) Yellow vein mosaic of bhindi

(3) Bunchy top of banana
(4) Leaf curl of papaya



97.

98.

99.

100.

i TawE % Ia & foR frm A w

FEAF TR & -

(1) Tersmsfismoyear

(2) dashe St gmeefie i #
- BE

(3) AR ST B STt <hY StfERiaT |
g

4) ey w feemh 'R

estsTop 3 fRr T B |
37 anffe HEw a1t UTedl § S U
AFAH TG ?
(1) S aHIE  (2) g S
(3) FIEIAFE (4) b TE

T O A % T8 T ! TaiifaaE
o 37 A8 TET ST Fehal ?

ThS-gum 6l IyrEEnet (FE-1)
a7 g% IRt SH 9l SR

aREreTel (Tae-11) =i gafera Hifve
AT TE I HT =TI B
W -1 w11
a. TYCTEIEET i SAATEHI
b. FEEmERT i, SiH R
c. e i, e fsreet 1
forees
d. UOTERe iv. GEgEA
E
a b c d
(1) i 0ot B 1y IV

(2) ikt = ST IV
@) siddavio . o did
@ iV e i

RS p————— LIRS R

s 5 A

98.

99.

100.

Which of the following is not
essential for evolution of seed habit ?
(D)
2

Heterospory

Reduction of a free living
female gametophyte

Freedom from compulsion of
water for sexual reproduction

€)

Megaspore is not persistently
stable in megasporangium.

@

Which of the economically
important plants are members of the
same family ?

(1) Liquorice and Cotton

(2) Coriander and Asafoetida

(3) Cotton and Jute

(4) Opium and Asafoetida

Which of the following modes of
reproduction cannot be kept under
Apomixis ?

(1) Parthenogenesis

(2) Apogamy

(3) Apospory

(4) Sporophytic budding

Match the sub-stages of Prophase-I
(Column-I) with related
phenomenon (Column-IT) occurring
in it and choose the correct code :

Column -1 Column - II
a. Pachytene 1i. Chiasma
b. Zygotene  ii. Crossing Over
c. Diplotene iii. Degradation of

Nuclear membrane

v. Synapsis

st

d. Diakinesis
Codes :
a b c d

Wi TR T
Q) ity e Py
By T

(4.4 v i, Hi
05 (Science)



101.

102.

103.

104.

105.

S ¥ A g o gafea @ 2

() Tt g - MgAah!
(b) Ew o g A, S
(c) TS Il UitehedHT : .21 FR
(d) Hirwa w g V% el
@ g I

(1) (a), (b)TAT(c) (2) (), (©)TAT(d)
@) T @) @TA()

SRS TISRI-I 3T S SAgeITRN 2 -
(1) W ()

@) fewrfen  (4) <TRREH
359 i NADH & 3iTaefientor o g
Toiae aiae @ § ATP % foha
I EA E ?

1) 2 (2)-3

(3) 24 (4) 36

fimfReaa @wist & @ B9 @
YeTse el 1 St S8 ?
H

0
H H S SRS ¢
b Lo - EEl
) —N—c—ci—N-(lz—%—N—?—c—
e N
0 0
0

(3) =N -C-N-C-NH-C-NH-
BEET

o
jos)

05 (Science)
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101.

102.

103.

104.

105.

Which of the following pairs are
correctly matched ?

(a) Relay pump theory: Godlewaski

(b) Cohesion Tension : Sir. J.C. Bose
Theory

(c) Starch Sugar : J.D. Sayre
Hypothesis

(d) Theory of : Stephan
Capillarity Hales

Select the Correct Code :

(1) (a), (b)and (c) (2) (a), (c)and (d)
(3) (b)and(d)  (4) (a)and(c)
First  electron  acceptor  of
photosystem-II is :
(1) Ferrodoxin
(3) Pheophytin

In electron transport chain during
respiration ~ oxidation of one
molecule of NADH gives rise to how
many molecules of ATP ?

6h): 2 2 3

(3) 24 4) 36

Which of the following structures
represents the peptide chain ?

(2) Quinone
(4) Plastoquinone

(3) -N—-C-N-C-NH-C-NH-
g
O H
H
SERE BE i
(4) -N-C-C-C-N-C-C-N-C-C-C-
] & o |

A plant whose stem contains both
included phloem and internal phloem :

(1) Leptadenia pyrotechnica
(2) Salvadora persica

(3) Chenopodium murale
(4) Achyranthes aspera



106. T H=1 7 ST L T ST ! 106. Observe the following statements
T4 $ifT and choose the correct answer :
a3 TE s @i 9l B a. Charles Febry and Henri
%ﬁﬁg{.’gﬂﬁiﬁ | ?uisson discovered the ozone
/ ayer.

B : T ol g 7% foeeft H feora b. National Ozone Center is
2 situated in New Delhi.

c. HANH IJUFT H T H ¢. Chlorofluorocarbon is the main
FAUGRIh I & | cause of ozone depletion.

(1) ad¥ic (2) ad@ATb Eé% (1) aandc (2) aandb

(3) bauTc @) abaaic (3) bandc (4) a,bandc

107. S IPEREE (G- H EET 107. Match the Wildlife Sanctuary (List-1)
et (g=h-1) ¥ gafera Hifsg qen = with related District (List-II) and
ﬁ%miﬁﬁaﬁwwwaﬁm: Cl.‘lOOSC right answer from codes as

given below :
T -1 et - 11 List—1 List - II
a. e fermendt i IEIW a. Ramgarh Vishdhari i. Udaipur
b. ST THTE ii. fo<tee b. Jamva Ramgarh ii. Chittorgarh
c. G=HIe i, <t c. Sajjangarh iii. Bundi
4. st v, SR d. Bassi iv. Jaipur
Codes : Sades:
a b c d 3 b % d
(i v a9 () 4 v L
e i e (2) iy i i i
@y i v i Gy e i i
() il ol e @ m Rty

108. SHEITeTT TE K | fea w9 A 108. Plasmodium enters the human body

YN HAT R ? as

(1) Ookinete (2) Sporozoites

(1) =Tog= 2) fesog :
(3) Trophozoite (4) Gametocyte

() JHEEE  (4) TEE
109. TR S@res § fr=fifaa § @ fha

: X 109. PGR of which of the followin,
TaTat T % e gfy P 2

chemical nature is helpful in wine

TR & ? production ?

e9) CACIES (1) Terpenes

(2) HUfAES FI= (2) Carotenoid derivative
(3) EHA T (3) Adenine derivative
(4) = A (4) Indole compound

o) AANBrO® WiiNBEASS WRINBEI/ S ILAFONNDS THILROUNCE TYIUAONARY NBSLINOS TRINDEIINSS THLNRANES THMBEISS

o 22 05 (Science)



110.

111.

112.

113.

114.

T 4 yu % fyeE % R

YU T HHE B

(1) yor =t fctefretr & s=m % fog |

(2) et oft =i 3reh @ s9E &
o7 e oht aeg M BT |

(3) Y91 I TNV €T |

@) fwmsfa g @ FHEA
SEHTFIES SN AFIIH
¥ 5o & for |

TS 987 [ I=aH & 8

1) I (2) HeaTh
(3) HYATOT (4) s1g

LR IEiE T o i S ]
Tovee (st.ug.deg.) & FefaRea
et § ¥ S @1, aitafas @
ST Uge] & S fas 1 e
HATE ?

(1) e TR

(2) e wEHE

(3) & T

(4) AT T

frafafgg & 9§ goedar aElE &
FAAHBHAATER ?

(1) UFE qHE

) gt

(3) Teg HHfEA

(4) A=

g 9 gfaeso gferern ST
TETAT 5T % ) U8eL 8 i

g T I AT |

(1) ted, meah ¥

) seud, wiedi |

(3) wita, genfeen 9

(4) sRiem, mehr A

05 (Science)

RR—————————————— L I U R

23

110.

111.

112.

113.

114.

In mammals the function of allantois
during development of embryo is
(1) To protect the embryo from
dehydration

To act as cushions for any
mechanical shocks
To nourish the
embryo

To rid the developing embryo of
carbon dioxide and nitrogenous
wastes

The highest level
domain is

(1) Knowledge
(2) Evaluation

(3) Synthesis

(4) Comprehension
Which of the following version of
Biological Science Curriculum
Study Project (BSCS) approaches
the study of biology from ecological
and behavioural aspect ?

)
(€))
Q)

developing

of cognitive

(1) Blue version
(2) Yellow version
(3) Green version
(4) Red version

Which of the following is the other
name of concept mapping ?

(1) Mind Maps

(2) Visual diagram

(3) Word mapping

(4) Knowledge diagram

Coupling and repulsion hypothesis
which are two aspects of the
phenomenon called linkage, was
explained by :

(1) Mendel in Garden pea

(2) Bateson in Sweet pea

(3) Morgan in Drosophila

(4) Hutchinson in Maize



115.

116.

11

118.

119.

feaffaad e s i S e a

e T8 @t B 2

(1) smmeEs - STE R
FAftrm

(2) INmWH — Y.
Fffertur freafes

(3) THeUATHENE — SIE® 9. Al
@) ghifesfatr - @3 smigm

fogm R 6 i e s
= & fafte Y i wed €, S8 &a
EIGIES

(1) 3w fafe

(2) = fafy

(3) T fafyr

(4) s oty

frafifaa 4 @ < & fkivar e

AT H TR A T TE & 2

(1) =& Renff gro faefia i smdt 2 1

) a7 fawg a5 ) hasg T d
e HA2 |

(3) UE HAATRA LAY J @I 2 |

(4) 398 FcafeveTd i fFwE g e |

frafafea # @ =l @ fog 5o e
HIAH S B ?

(1) EEEHL T Sgat TART

(2) SEAR IS 7

(3) T wfefert &1 SR 3w
(4) Torerept & aga fociia @y

frafafgas d§ @ <9 @ s
sftrgf i fedivar 7 2 2

(1) fogmn

(2) feH e

(3) R 9 INTE Fay H favar

(4) Fufavam ¥ fawa™

U ———————— SRR R
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115;

116.

117.

118.

119.

Which of the following pairs is not
correctly matched ?
(1) Inductive -
learning
(2) Taxonomy of
Educational
Objectives
Concept -
Mapping
Heuristic -
Method

J.S. Bruner

W.H. Kilpatric

3)
)

Joseph D. Nove

H.E. Armstrong

The method of science teaching in
which teacher moves from general to
specific is called as :

(1) Inductive method

(2) Lecture method

(3) Deductive method

(4) Experimental method

Which of the following

characteristics is not correct about

lesson plan ?

(1) Itis developed by students.

(2) It helps in orderly presentation
of contents.

(3) It saves

teaching.

It develops confidence.

from haphazard

“4)

Which of the following point is not

the advantage of team teaching ?

(1) Better utilization of resources

(2) Better planning

(3) Better use
techniques

(4) Better financial benefits of teachers

Which of the following is not a

characteristic of scientific attitude ?

(1) Curiosity

(2) Intellectual honesty

(3) Faith in cause and effect
relationship

(4) Faith in superstition

of teaching

05 (Science)



120. Fr=fofea # @ 9 @ & vhEw Ht

121.

122.

123.

124.

Tt fmar & R 2
(1) faudetm (2) Jua
(3) TEgHEdr (4) ToreEan

w g s, 2005 Prafafga § € f67

= eI 8F1 W SH NG

HAT 2 ?

A. e IR farma e

B. Tareey 3Tyt e

C. e e

SR HTS I AN B gE A HIS

oqe 3 ™ &, BN @ W FEis
TR :

&

(3) FAAATAC (4) A, BTAC

s SRTEITE H Teh ST 90 H

aTe, |t Hifes rafirsi i

(1) 3TTeRt e & fog ST eoa W
Big & TfeT |

(2) T T Tep g =ieT |

(3) e % FEIHR GHTE L &l
e |

(4) TATH =T |

e W wg fifq, 1986 H wiem
frg afafigu s 2

(1) ST E Yew wiufd

@) Twafd |t

(3) neafirEn wfufd

(4) FwUie Ffufd

T 39 g fashfEa IAVE TH H
gay feoa g ?

(1) wrea weT rard

(2) SuTfdE |

(3) SEwTETE fwin

(4) Roreor wETreh Gl W1 ST ST

05 (Science)
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120.

121.

122.

123.

124.

Which of the following is not the
technical characteristics of a good test is ?
(1) Discrimination

(2) Validity

(3) Objectivity

(4) Cost effectiveness

NCF 2005 draws attention on which
of the following other curriculum
areas :

A. The Art and Heritage craft

B. Health and Physical Education
C. Peace Education

Following are the groups of codes by
using mentioned above which group
of codes is best appropriate correct
group ?

Codes :

(1) Only AandB

(2) OnlyBand C

(3) OnlyAandC

(4) A,BandC

After completing an experiment in
science laboratory, all material waste
should be

M

left at your table for the next
class.

dumped into the sink.

disposed off according to
teacher’s direction.

to be taken home.

2
3)

“4)
National Policy on Education, 1986
was reviewed by which Committee ?
(1) Ishwar Bhai Patel Committee
(2) Ramamurti Committee

(3) Adiseshiah Committee

(4) Sampurnanand Committee

The cone of experience developed
by Edger Dale is related to

(1) Co-curricular activities

(2) Geometrical measurement

(3) Laboratory construction

(4) Appropriate use of teaching aids



125.

126.

127.

128.

frfafea & @ == @ feElE
ST 1 g T 2 2
(1) Tfa =1 g

IR &3 TR e # A FR H2i F R
&3 5 @ ® T O Hatfes 3uge el
e TYE T =TI HIT :

(1) Haa AU C

(2) %ad A, CTAUTD

(3) Had BT D

(4) A,B,CauID

Tad T s gedied (L E.) &
A. Sied wive

B. %/ e

C. T TE a2 ell

D. g @

I e e # @ 59 g f@ =
R ?, 378 ¥ waifis I9gF | I
1 = HINT |

(1) A, BaaiC (2) A,B,CaD
(3) A,BaaiD (4) A,CTAuID
frfaRaa § @ =i o1 TigE=at WS
w1 g g 2 2

(1) 3TEATUSH Hidal I G
(2) ggars« &1 g
(3) FwE st gutar w1 g
(4) e & g

%?E

SEp—————— SRR B

R ———————————————— S IR

N
(=)}

125.

126.

127.

128.

Which of the following is not the

principle of programmed instruction ?

(1) Principle of self pacing

(2) Principle of immediate
confirmation

(3) Principle of big steps

(4) Principle of active responding

Objectives of the organisation of

Science Club in schools are as

follows :

A. To develop scientific attitude

B. To cultivate the leadership
qualities

C. To develop scientific interest

D. To bring awareness for
environmental study.

Following are the groups of codes as

mentioned above, select the most

appropriate correct group of codes :

(1) Only Aand C

(2) OnlyA,Cand D

(3) OnlyBand D

4 A,B,CandD

Co-Scholastic areas of Continuous
and Comprehensive Evaluation
(CCE) includes :

A. Life Skills

B. Work Education

C. Visual and Performing Arts
D. Attitude and Values

Following are the groups of codes as
mentioned above, select the most
appropriate group.
(1) A,BandC
3) A,BandD

(2) A,B,CandD
(4) A,Cand D

Which of the following is not the

principle of curriculum organisation ?

(1) Principle of teacher
centeredness

(2) Principle of correlation

(3) Principle of totality of
experiences

(4) Principle of flexibility

05 (Science)



129. T=ifera & @ 4 €t R sggeEn
SHAATH® & ?
(1) ufES e
(2) SRS ST
(3) it ST
(4) A ST

fraffea & @ =i @ fame R |

ffifftere 3w f Faite S9H

foiwar 2 2

(1) HHIR BT i ATdied FEram
3T U |

(2) wwen gugE # T i
T 1 T

(3) Tt = sywares ™
3qAsY U |

@) Tt = e seaEA
- gt 3qeTed HUAT |

130.

It Rt % el B @ A
T

i, it =1 favawm

il. GHE I =TI BT

iii. TERTT I ST

iv. Treed Fepram

v. GiEheTHT SHHT

e :
¢y
2)
€))
(C))
05 (Science)

131.

fli>iio>voi—oiv
iDil—oivoaili—>Vv
i>voii—>i—iv

ii—>iii>v—oivoi

gé%

TGS WSS TN 043 THIKIOTINS THIMBNOD TWILNBTINES

RS ES YYiURRINES WiIeOLNOS TRLBSIMED

N
~

129. Which of the following teaching
strategies is a democratic teaching
strategy ?

(1) Project strategy

(2) Explanation strategy
(3) Programmed Instruction
(4) Illustration strategy

130. Which of the following is most
appropriate characteristics in context
of constructivist approach in Science

teaching ?

M

Providing additional academic
help to only weaker students.

(2) Applying different formulae in

solving problems.
(3) Providing experiential learning
to students.

“)

Providing more and more study
material to students.

131. Arrange the steps of Scientific

Method in correct sequence :
i.  Analyzing data
ii. Selection of problem
iii. Testing the hypothesis
iv. Drawing conclusion
v. Formulation of hypothesis
Codes :
1) iii>ii>v—>i—iv
) i>ii>ivaii—>vV
3) ii>v—oii—>i—>iv

@) ii—ii>vorivoi



132.

133.

134.

135.

136.

(A+B)x (A-B)wmam
1) 0@ (2) A?2-B?
(3) AxB @) 2(BxA)

7f& T HO H1 AT v = At + B2 ], ST&
A 9 B foraraies €, dt 399 g0 1s 9 2s
FAF A 3
€] %+% ) %A+4B

7

3
4) 5A+3B

(3) 3A+7B :

TR IR T B X Y 3 &
AT 20 m/s & $H1 J@T & ST Y B
0.1s ge=Ta Zohaar @ | df g XY ®
(g= 10 n/s? &)

——K""‘X
Y

(1) 0.05m @) 1m
(3) 0.5m @) 0.lm

e 1 guiie 7 gogmM 3 kg &1 =W
Sra <hifore STefeh 2 kg ST I 0l
2m/s? & | (FRi mmest 2)

10N
2 kgb——>

3kg

(1) 3 m/s? (2) 2m/s?

(3) 0.5m/s? 4) 5m/s?
afe e wifoss Tl <t fmd MeLETe
3 ewis & o vitfoss ufyr grft

(1) sa3afga=0,b=-1,c=-2
) T=3aRa=1,b=-1,c=-2
(3) ImARa=1,b=0,c=-1

(4) wafga=1,b=1,c=-2

I
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132.

133.

134.

135.

136.

The value of (K+§) X (K—ﬁ) is
(1) 0 (zero) (2) A2-B?
(3) AxB @) 2(§xK)

If the velocity of a particle is
v = At + Bt?, where A and B are
constants, then the distance travelled
by it between 1s and 2s is

() %*—% ) %A+4B
/s

3
@) SA+3B

(3) 3A+7B 3

A dart
towards X at 20 m/s as shown. It hits
Y, 0.1s later. The distance XY is

(Take g = 10 m/s?)

is thrown horizontally

(1) 0.05m
(3) 0.5m

2) 1m
4) 0.1m

Find the acceleration of 3 kg mass
when acceleration of 2 kg mass is
2m/s? as shown in figure. (spring is
ideal)

3 kg HUTTIIOY 2 kg——>

10N

(1) 3 m/s?
(3) 0.5 m/s?

(2) 2m/s?
4) 5m/s?

If the dimensions of a physical

quantity are given by MPLT¢, then

the physical quantity will be

(1) Forceifa=0,b=-1,c=-2

(2) Pressurcifa=1,b==1,c=-2

(3). Velocityifa=1,b=0,c=-1

(4) Accelerationifa=1,b=1,c=-
05 (Science)



137. 12 m/s 97 & 7ifasfiet 4 kg gowe Y {  137. A body of mass 4 kg moving with

T 6 kg ZoAH & FRR CE q TR velocity 12 m/s collides with another
et S < body of mass 6 kg at rest. If two
2 I;;ﬁf Gﬂ??; ) S aﬁg : bodies stick together after collision
@@ i g, at T then the loss of kinetic energy of
oSt et | g1 8 system is
(1 = (2) 2881J E_% (1) Zero (2) 2881J
(3) 172.8J 4) 144) O 3) 172.8] (4) 1447
138. f= #d ewig IR THh THAHN 3F 138. A uniform solid sphere is rolling
Ml v m/s & TIET 97 9 famn without slipling on a surface as
fhoet wlieht fy w @ 2 | AR = shown in figure with a translational
& velocity v m/s. If it is to climb the
T TG A v inclined surface then v should be
- @Yoo Ili__. A e Ih
10 10 10 10
(). 2 —,l-gh (2) 277¢h (1) = —7—gh (2 27>¢h
(3) =22gh (4) <2gh (3) =2gh (4) <42gh
139. o= o quie 31U < weaw et B 139. Two identical ideal springs are
wmm%wﬁgﬁé | B attached to a block of mass m as
- ) shown in figure. The period of
b 5 I & oscillations of system will be
k pm Kk kK pa k

i /E s /Z_m
() T=2m>= @) T=2m,=
Poon B @y To2n B
() T=2n == ) T=2n,/-

= El_ = 2_m_
(1) T—Zn‘/k @) T 2n‘f :
i /m i ’m

140. T {8 i 9o gu diar s 8 | 3fe

B ————

140. A spring is stretched by a force. If 10 N

i
e 1l mmdE * f%m 10 N&¥d 5 force is required to stretch the spring
TS 2 af fB #Y 40 mm Fi=a | g by 1 mm, then work done in
fora T B 2 @E wH & 6 & i gretching the spring thr(.>ugh 40 mm
e 2) i is (Assume spring to be ideal)
(1) 23] (2) 68J | S Sl
() 1807 4) 8] x 3) 180J (4) 81J

05 (Science) 29 O



141. et {5 3= ferspfar &g e s whan
2, A 8
(1) ¥R
(3) wnfes

(2) SARIIH
(4) g

m SEIHH Sl Teh AR e fehelt T
39 ¥ v, A o & iRt 3 | @9E
29§ 8§ m geUHM hl I TSR g
(59T v i) & Fra s a2
M) v, (2) 4v,
(3) 8v, 4) 27v,

142.

T < TS FuEE § I % gNE U
Td SAET H918 a% dedl 8 | $H
SR B THATE

(1) za 9 6t e AR =E R |
(2) 9 1A 9 5 A9 H AT # |
(3) U 1 U8 I 59 % ANE HA 2 |

143.

(4) I T I8 TS 59 % HI9E IH § |

144. 40% S&IAT &1 T I 3H 500 K g
& Hia @ FST AT 2 | A 60% &
% ] S hl STTETIHAT & al JHH
fes 19 % foTe Hie &1 a9 BT TR ;
(1) 600K (2) 750K

(3) 1000K (4) 1200K
145. m SEIHT I Teh ITUE Jeaft & = 3N
2R, B S aaeRsE AR 1T 4R,
T < gaTeR HE § wEEIRd S
% foru fpaft Sl sEvEs 2 2

(g-ToeelTa RT)

gmR gmRg
()" o

gmR
G

(4) gmRg

%

APHAN DS TSI WULAALIOS YOS WILKES (S TSNS WIAPIYES SRS WSR3 NSNS TSNS

w
o

141. Substances which can be stretched to
cause large strains are called as
(1) Brittle (2) Elastomers

(3) Plastic (4) Metals
142. An spherical ball of mass m fallsin a
viscous liquid with a terminal
velocity v,. Another spherical ball,

same material of mass 8 m will fall
through the same liquid with a
terminal velocity of

(1) v, (2) 4v,
(3) 8v, @) 27v,

A liquid rises upto a height greater

than that for water in given capillary

tube. Its reason may be that

(1) the liquid is more viscous than
water.

(2) the temperature of liquid is
higher than that of water.

€))

“)

143.

the surface tension of water is
less than that of liquid.

the surface tension of water is
more than that of liquid.

A Carnot engine whose efficiency is
40% takes in heat from a source at a
temperature 500 K. If it is desired to
have a Carnot engine of efficiency
60%, then the source temperature for

the same sink temperature must be :
(1) 600K 2) 750K
(3) 1000K (4) 1200K

144.

145. A satellite of mass m is in a circular

orbit of Radius 2R around the

Earth. How much energy is required
to transfer it to a circular orbit of

radius 4R, ?

(g—acceleration due to gravity)
gmRp gmRy

3 @) 3
gmRy

)5 (4) gmRg
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146.

147.

148.

149.

150.

21 ar A 360 nm T 480 nm TT-
e W atftrean fafer scafla &
# | 37 aTdl %1 I 2

(1) 12 2) 34
(3) 43 4) 2:1

27 T AT 36 n, YT o hid T

o G n, A F 79 TS A

gl & ST & | n, 9 n, % T FE

g

(1) n;=n,

(2) n,<n,

(3) n;>n,

(4) gEN TR |

aft B, a1 V,, fereft =rereh bt a8 W

ShHRI: ﬁgﬂ—@ﬁﬁ; SE Q'a ﬁl‘gﬁ—

S fva § 1| @ o Tl % forg

AT % TG T EE U AT |

(D Eoﬁaa%amvoqﬂa—cim%l

(2) et ST B B W SR R |

(3) =rers i wvft s v, R R

@) V, 9% & H5 § wE T
sfafda g g |

£z & eyiu aem 1, A9 B % A
e i 2

2uF 2pF 2uF 2pF

Tt
Zp,F- lpl?‘—lul?\—lpfl_ g
(1) 1yF (2) 2pF
() 4uF @ Sur
ws a & gl ) siEa @A

Rt 83 | faw Fra g wyERd
T T IE 20 ] FE S @ | g

Jraeia St 2
(1) 50J (2) 100J
(3) 150J (4) 20017
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146.

147.

148.

149.

150.

Two stars emit maximum radiation at
wavelength 360 nm and 480 nm

respectively. The ratio of their
temperatures is

(1 1:2 (2) 34

(3) 43 4) 2:1

It is found that a glass lens of
refractive index n, disappears in a
trough of liquid of refractive index
n,. The correct relation between ny
and n, is

(1) n;=ny

(2) n<m

(3) n>n

(4) Information is insufficient.
IfEjand V, are electrostatic field and
electrostatic potential on the surface of
a conductor respectively, then choose
correct statement for these quantities
over the volume of conductor.

(1) E, is constant, Vg is variable.
(2) E, is non-zero everywhere in
entire volume.

V,, is throughout constant in the
conductor.

V,, varies from centre to surface

of conductor.

The equivalent ca
combination, as s
between A and B 1s

2yF 2pF 2pF 2uF

HERina
o L LA

(1) 1pF (2) 2 pF

3
(3) 4pF (4) SHF

The average degrees of freedom per
molecule for a gas is 8. The gas
performs 20 J of work when it expands
at constant pressure. The heat absorbed

(©))
“4)

acitance of the
own in figure,

by the gas is
(1) 5017 (2) 100J
(3) 150J (4) 2007
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